# Case 24-10453-BFK Doc 1452 Filed 12/04/24 Entered 12/04/24 13:10:52 Desc Main Docket #1452 Date Filed: 12/04/2024

Scott L. Alberino (admitted *pro hac vice*) Alexander F. Antypas (VSB No. 92083) **AKIN GUMP STRAUSS HAUER & FELD LLP** Robert S. Strauss Tower

Counsel to the Official Committee of Unsecured Creditors

2001 K Street, N.W. Washington, DC 20006-1037 Telephone: (202) 887-4000 Facsimile: (202) 887-4288 Ira S. Dizengoff (admitted *pro hac vice*)
Abid Qureshi (admitted *pro hac vice*)
Jason P. Rubin (admitted *pro hac vice*)
AKIN GUMP STRAUSS HAUER & FELD LLP
One Bryant Park

New York, New York 10036 Telephone: (212) 872-1000 Facsimile: (212) 872-1002 Lawrence A. Katz (VSB No. 47664) Kristen E. Burgers (VSB No. 67997) HIRSCHLER FLEISCHER, P.C. 1676 International Drive, Suite 1350 Tysons, Virginia 22102 Telephone: (703) 584-8900

Facsimile: (703) 584-8901

Local Counsel to the Official Committee of Unsecured Creditors

#### `IN THE UNITED STATES BANKRUPTCY COURT EASTERN DISTRICT OF VIRGINIA

**ALEXANDRIA DIVISION** 

	Chapter 11
In re:	
	Case No. 24-10453 (BFK)
ENVIVA, INC., et al., 1	
	(Jointly Administered)
Debtors.	
	Objection Deadline: December 18, 2024

SEVENTH MONTHLY FEE STATEMENT OF ALIXPARTNERS, LLP, FINANCIAL ADVISOR TO THE OFFICIAL COMMITTEE OF UNSECURED CREDITORS, FOR ALLOWANCE OF COMPENSATION FOR PROFESSIONAL SERVICES RENDERED AND REIMBURSEMENT OF EXPENSES INCURRED FOR THE PERIOD FROM OCTOBER 1, 2024 THROUGH OCTOBER 31, 2024

Name of Applicant:	ALIXPARTNERS, LLP		
Applicant's Role in Case:	Financial Advisor to the Official Committee of Unsecured Creditors		
Date of Employment Order:	May 29, 2024 effective as of March 28, 2024 [Docket No. 628]		
Time named covered by this Fee Statements	Beginning of Period	<b>End of Period</b>	
Time period covered by this Fee Statement:	October 1, 2024	October 31, 2024	
Summary of Total Fees an	nd Expenses Requested:		
Total fees requested in this Fee Statement:	\$149,101.60 (80% of \$186,377.00)		
<b>Total expenses requested in this Fee Statement:</b>	\$0.00		
Total fees and expenses requested in this Fee Statement:	quested in this Fee Statement: \$149,101.60		

Due to the large number of Debtors in these jointly administered chapter 11 cases, a complete list of the Debtor entities and the last four digits of their federal tax identification numbers is not provided herein. A complete list may be obtained on the website of the Debtors' proposed claims and noticing agent at www.kccllc.net/enviva. The location of the Debtors' corporate headquarters is: 7272 Wisconsin Avenue, Suite 1800, Bethesda, MD 20814.



#### **ALIXPARTNERS, LLP**

# SUMMARY OF HOURS AND FEES BY PROFESSIONAL OCTOBER 1, 2024 THROUGH OCTOBER 31, 2024

Professional	Title	Rate	Hours		Fees
David MacGreevey	Partner & Managing Director	\$1,435	8.3	\$	11,910.50
Kathryn B McGlynn	Partner & Managing Director	\$1,380	4.0		5,520.00
Richard Collura	Partner & Managing Director	\$1,320	2.0		2,640.00
Mark Cervi	Director	\$1,125	17.9		20,137.50
Matthew D Gates	Director	\$1,025	7.0		7,175.00
Ryan H Komendowski	Director	\$960	0.5		480.00
Scott Weiner	Director	\$960	0.5		480.00
Andrew Valentini	Senior Vice President	\$895	66.5		59,517.50
Christopher Cuomo	Senior Vice President	\$880	0.4		352.00
Thomas G Prince	Senior Vice President	\$880	18.9		16,632.00
Kaitlyn A Sundt	Senior Vice President	\$650	0.2		130.00
Sari Rosenfeld	Senior Vice President	\$625	1.1		687.50
Brooke Filler	Senior Vice President	\$575	0.6		345.00
Chase Hood	Vice President	\$750	4.3		3,225.00
Daniel Lopresti	Vice President	\$750	15.2		11,400.00
Robert Matthew Cowen	Vice President	\$750	25.9		19,425.00
Lisa Marie Bonito	Vice President	\$550	20.5		11,275.00
Lauren Prohaska	Vice President	\$525	25.8		13,545.00
Hugh Olohan	Analyst	\$500	3.0		1,500.00
Total Hours and Fees for Professionals 222.6				\$	186,377.00
	Less 20% Holdback				(37,275.40)
Total Fees for Professionals After Holdback				\$	149,101.60

#### **ALIXPARTNERS, LLP**

# SUMMARY OF HOURS AND FEES BY MATTER CATEGORY OCTOBER 1, 2024 THROUGH OCTOBER 31, 2024

Matter Code	Matter Category	Hours	Fees
1.2	Meetings & Communication with UCC and Creditors	6.9	\$ 7,214.50
1.3	Preparation of Committee Presentations	17.4	17,085.00
1.4	Meetings & Communication with Debtors	2.7	2,519.00
1.7	Liquidity and Cash Management	44.2	39,657.50
1.9	Business and Strategic Plan	17.7	13,535.50
1.11	Financial and Other Diligence	7.9	5,799.00
1.13	Litigation Support & Investigations	1.5	1,980.00
1.14	Claims Analysis	9.0	7,787.50
1.17	RSA, Disclosure Statement & Plan of Reorganization	34.0	33,872.00
1.18	Court Hearings and Status Conferences	2.5	3,084.50
1.19	Retention Applications & Relationship Disclosures	26.4	13,890.00
1.20	Fee Applications & Fee Statements	28.8	19,556.50
1.22	Intercompany & Waterfall Analysis	23.6	20,396.00
	Total Hours and Fees by Matter Category	222.6	\$ 186,377.00

Average Billing Rate \$ 837.27

AlixPartners, LLP ("AlixPartners"), as financial advisor to the Official Committee of Unsecured Creditors (the "Committee") to the above-captioned debtors (the "Debtors"), hereby submits its seventh monthly fee statement (the "Fee Statement") seeking compensation for professional services rendered and reimbursement of out-of-pocket expenses for the period from October 1, 2024 through October 31, 2024 (the "Compensation Period"), pursuant to the Order (i) Establishing Procedures for Interim Compensation and Reimbursement of Expenses for Retained Professionals and (ii) Granting Related Relief [Docket No. 317] (the "Interim Compensation Order") and the Order Authorizing the Official Committee of Unsecured Creditors to Employ and Retain AlixPartners, LLP as its Financial Advisor, Effective as of March 28, 2024 [Docket No. 628].

The Interim Compensation Order provides that fourteen (14) days after the filing of this Fee Statement (the "Objection Deadline"), the Debtors are authorized and directed to pay AlixPartners 80% of the professional fees and 100% of the out-of-pocket expenses requested in this Fee Statement, with the exception of any fees and/or expenses subject to an objection.

Detailed descriptions of the services performed by each professional, organized by matter category and by date, and the hours of services provided (in tenths of an hour) during the Compensation Period are attached hereto as **Exhibit A**.

**WHEREFORE,** AlixPartners, as financial advisor to the Committee, respectfully requests: (i) an interim allowance of compensation for professional services in the amount of \$186,377.00 for the Compensation Period; (ii) that, upon the expiration of the Objection Deadline, the Debtors are authorized and directed to pay AlixPartners fees in the amount of \$149,101.60 for a total amount of \$186,377.00; and (iii) such other and further relief as this Court deems proper.

Dated: December 4, 2024

ALIXPARTNERS, LLP 909 Third Avenue, 28<sup>th</sup> Floor New York, New York 10022

/s/ David MacGreevey

By: David MacGreevey

Partner & Managing Director

Electronically filed by:

#### /s/ Kristen E. Burgers

Lawrence A. Katz (VSB No. 47664)

Kristen E. Burgers (VSB No. 67997)

Allison P. Klena (VSB No. 96400)

HIRSCHLER FLEISCHER, P.C.

1676 International Drive, Suite 1350

Tysons, Virginia 22102

Telephone: (703) 584-8900 Facsimile: (703) 584-8901

Local Counsel to the Official Committee of Unsecured Creditors

#### Exhibit A

**Detailed Description of AlixPartners' Fees and Hours by Matter Category** 

Enviva, Inc.

Attn: Glenn T. Nunziata

7272 Wisconsin Avenue, Suite 1800

Bethesda, MD 20814

Re: Meetings & Communication with UCC and Creditors

DATE	PROFESSIONAL	DESCRIPTION OF SERVICES	HOURS
10/01/2024	DL	Call with M. Cervi, D. Lopresti (AlixPartners), J. Rubin (Akin) re: litigation trust	0.3
10/01/2024	MC	interest calculations	0.2
10/01/2024	MC	Call with M. Cervi, D. Lopresti (AlixPartners), J. Rubin (Akin) re: litigation trust interest calculations	0.3
10/02/2024	AV	Call with M. Cervi, R. Collura, M. Gates, C. Hood, R. Komendowski, D. Lopresti,	0.2
		D. MacGreevey, T. Prince, A. Valentini, S. Weiner (AlixPartners), J. Rubin and	*
		others (Akin), J. Koh and others (Ducera), K. Burgers and others (Hirschler) re: UCC advisor pre-call before meeting with Committee	
10/02/2024	AV	Call with M. Cervi, R. Collura, M. Gates, C. Hood, R. Komendowski, D. Lopresti,	0.3
		D. MacGreevey, K. McGlynn, T. Prince, A. Valentini, S. Weiner (AlixPartners), J.	
		Rubin and others (Akin), J. Koh and others (Ducera), K. Burgers and others	
		(Hirschler), Committee Members (UCC) re: weekly UCC update call	
10/02/2024	СН	Call with M. Cervi, R. Collura, M. Gates, C. Hood, R. Komendowski, D. Lopresti,	0.2
		D. MacGreevey, T. Prince, A. Valentini, S. Weiner (AlixPartners), J. Rubin and	
		others (Akin), J. Koh and others (Ducera), K. Burgers and others (Hirschler) re:	
10/02/2024	СН	UCC advisor pre-call before meeting with Committee Call with M. Cervi, R. Collura, M. Gates, C. Hood, R. Komendowski, D. Lopresti,	0.3
10/02/2024	CII	D. MacGreevey, K. McGlynn, T. Prince, A. Valentini, S. Weiner (AlixPartners), J.	0.5
		Rubin and others (Akin), J. Koh and others (Ducera), K. Burgers and others	
		(Hirschler), Committee Members (UCC) re: weekly UCC update call	
10/02/2024	DL	Call with M. Cervi, R. Collura, M. Gates, C. Hood, R. Komendowski, D. Lopresti,	0.2
		D. MacGreevey, T. Prince, A. Valentini, S. Weiner (AlixPartners), J. Rubin and	
		others (Akin), J. Koh and others (Ducera), K. Burgers and others (Hirschler) re:	
		UCC advisor pre-call before meeting with Committee	
10/02/2024	DL	Call with M. Cervi, R. Collura, M. Gates, C. Hood, R. Komendowski, D. Lopresti,	0.3
		D. MacGreevey, K. McGlynn, T. Prince, A. Valentini, S. Weiner (AlixPartners), J. Rubin and others (Akin), J. Koh and others (Ducera), K. Burgers and others	
		(Hirschler), Committee Members (UCC) re: weekly UCC update call	
		(This enter), Committee Members (CCC) Ic. Weekly CCC update can	
10/02/2024	DM	Call with M. Cervi, R. Collura, M. Gates, C. Hood, R. Komendowski, D. Lopresti,	0.2
		D. MacGreevey, T. Prince, A. Valentini, S. Weiner (AlixPartners), J. Rubin and	
		others (Akin), J. Koh and others (Ducera), K. Burgers and others (Hirschler) re: UCC advisor pre-call before meeting with Committee	
10/02/2024	DM	Call with M. Cervi, R. Collura, M. Gates, C. Hood, R. Komendowski, D. Lopresti,	0.3
10/02/2024	DIVI	D. MacGreevey, K. McGlynn, T. Prince, A. Valentini, S. Weiner (AlixPartners), J.	0.5
		Rubin and others (Akin), J. Koh and others (Ducera), K. Burgers and others	
		(Hirschler), Committee Members (UCC) re: weekly UCC update call	
10/02/2024	DM	Emails with J. Rubin (Akin) and M. Cervi re: EVA backstop covenants	0.2

Enviva, Inc.

Attn: Glenn T. Nunziata

7272 Wisconsin Avenue, Suite 1800

Bethesda, MD 20814

Re: Meetings & Communication with UCC and Creditors

DATE	PROFESSIONAL	DESCRIPTION OF SERVICES	HOURS
10/02/2024	КВМ	Call with M. Cervi, R. Collura, M. Gates, C. Hood, R. Komendowski, D. Lopresti, D. MacGreevey, K. McGlynn, T. Prince, A. Valentini, S. Weiner (AlixPartners), J. Rubin and others (Akin), J. Koh and others (Ducera), K. Burgers and others (Hirschler), Committee Members (UCC) re: weekly UCC update call	0.3
10/02/2024	МС	Call with M. Cervi, R. Collura, M. Gates, C. Hood, R. Komendowski, D. Lopresti, D. MacGreevey, T. Prince, A. Valentini, S. Weiner (AlixPartners), J. Rubin and others (Akin), J. Koh and others (Ducera), K. Burgers and others (Hirschler) re: UCC advisor pre-call before meeting with Committee	0.2
10/02/2024	МС	Call with M. Cervi, R. Collura, M. Gates, C. Hood, R. Komendowski, D. Lopresti, D. MacGreevey, K. McGlynn, T. Prince, A. Valentini, S. Weiner (AlixPartners), J. Rubin and others (Akin), J. Koh and others (Ducera), K. Burgers and others (Hirschler), Committee Members (UCC) re: weekly UCC update call	0.3
10/02/2024	MDG	Call with M. Cervi, R. Collura, M. Gates, C. Hood, R. Komendowski, D. Lopresti, D. MacGreevey, T. Prince, A. Valentini, S. Weiner (AlixPartners), J. Rubin and others (Akin), J. Koh and others (Ducera), K. Burgers and others (Hirschler) re: UCC advisor pre-call before meeting with Committee	0.2
10/02/2024	MDG	Call with M. Cervi, R. Collura, M. Gates, C. Hood, R. Komendowski, D. Lopresti, D. MacGreevey, K. McGlynn, T. Prince, A. Valentini, S. Weiner (AlixPartners), J. Rubin and others (Akin), J. Koh and others (Ducera), K. Burgers and others (Hirschler), Committee Members (UCC) re: weekly UCC update call	0.3
10/02/2024	RC	Call with M. Cervi, R. Collura, M. Gates, C. Hood, R. Komendowski, D. Lopresti, D. MacGreevey, T. Prince, A. Valentini, S. Weiner (AlixPartners), J. Rubin and others (Akin), J. Koh and others (Ducera), K. Burgers and others (Hirschler) re: UCC advisor pre-call before meeting with Committee	0.2
10/02/2024	RC	Call with M. Cervi, R. Collura, M. Gates, C. Hood, R. Komendowski, D. Lopresti, D. MacGreevey, K. McGlynn, T. Prince, A. Valentini, S. Weiner (AlixPartners), J. Rubin and others (Akin), J. Koh and others (Ducera), K. Burgers and others (Hirschler), Committee Members (UCC) re: weekly UCC update call.	0.3
10/02/2024	RHK	Call with M. Cervi, R. Collura, M. Gates, C. Hood, R. Komendowski, D. Lopresti, D. MacGreevey, T. Prince, A. Valentini, S. Weiner (AlixPartners), J. Rubin and others (Akin), J. Koh and others (Ducera), K. Burgers and others (Hirschler) re: UCC advisor pre-call before meeting with Committee	0.2
10/02/2024	RHK	Call with M. Cervi, R. Collura, M. Gates, C. Hood, R. Komendowski, D. Lopresti, D. MacGreevey, K. McGlynn, T. Prince, A. Valentini, S. Weiner (AlixPartners), J. Rubin and others (Akin), J. Koh and others (Ducera), K. Burgers and others (Hirschler), Committee Members (UCC) re: weekly UCC update call	0.3
10/02/2024	SW	Call with M. Cervi, R. Collura, M. Gates, C. Hood, R. Komendowski, D. Lopresti, D. MacGreevey, T. Prince, A. Valentini, S. Weiner (AlixPartners), J. Rubin and others (Akin), J. Koh and others (Ducera), K. Burgers and others (Hirschler) re: UCC advisor pre-call before meeting with Committee	0.2

Enviva, Inc.

Attn: Glenn T. Nunziata

7272 Wisconsin Avenue, Suite 1800

Bethesda, MD 20814

Re: Meetings & Communication with UCC and Creditors

DATE	PROFESSIONAL	DESCRIPTION OF SERVICES	HOURS
10/02/2024	SW	Call with M. Cervi, R. Collura, M. Gates, C. Hood, R. Komendowski, D. Lopresti, D. MacGreevey, K. McGlynn, T. Prince, A. Valentini, S. Weiner (AlixPartners), J. Rubin and others (Akin), J. Koh and others (Ducera), K. Burgers and others (Hirschler), Committee Members (UCC) re: weekly UCC update call	0.3
10/02/2024	TGP	Call with M. Cervi, R. Collura, M. Gates, C. Hood, R. Komendowski, D. Lopresti, D. MacGreevey, T. Prince, A. Valentini, S. Weiner (AlixPartners), J. Rubin and others (Akin), J. Koh and others (Ducera), K. Burgers and others (Hirschler) re: UCC advisor pre-call before meeting with Committee	0.2
10/02/2024	TGP	Call with M. Cervi, R. Collura, M. Gates, C. Hood, R. Komendowski, D. Lopresti, D. MacGreevey, K. McGlynn, T. Prince, A. Valentini, S. Weiner (AlixPartners), J. Rubin and others (Akin), J. Koh and others (Ducera), K. Burgers and others (Hirschler), Committee Members (UCC) re: weekly UCC update call	0.3
10/03/2024	DM	Emails with J. Rubin (Akin) and M. Cervi (AlixPartners) re: EVA backstop covenant analysis	0.3
10/22/2024	AV	Review email with attachments from E. Sanzotta (Akin) re: case updates	0.4
10/22/2024	MC	Review committee update email from E. Sanzotta (Akin)	0.1
Total Professiona	al Hours		6.9

Enviva, Inc.

Attn: Glenn T. Nunziata

7272 Wisconsin Avenue, Suite 1800

Bethesda, MD 20814

Re: Meetings & Communication with UCC and Creditors

PROFESSIONAL	RATE	HOURS	FEES
David MacGreevey	\$1,435	1.0	\$ 1,435.00
Kathryn B McGlynn	\$1,380	0.3	414.00
Richard Collura	\$1,320	0.5	660.00
Mark Cervi	\$1,125	0.9	1,012.50
Matthew D Gates	\$1,025	0.5	512.50
Ryan H Komendowski	\$960	0.5	480.00
Scott Weiner	\$960	0.5	480.00
Andrew Valentini	\$895	0.9	805.50
Thomas G Prince	\$880	0.5	440.00
Chase Hood	\$750	0.5	375.00
Daniel Lopresti	\$750	0.8	600.00
<b>Total Professional Hours and Fees</b>		<u>6.9</u>	\$ 7,214.50

Enviva, Inc.

Attn: Glenn T. Nunziata

7272 Wisconsin Avenue, Suite 1800

Bethesda, MD 20814

Re: Preparation of Committee Presentations

DATE	PROFESSIONAL	DESCRIPTION OF SERVICES	HOURS
10/01/2024	AV	Revise weekly liquidity deck re: comments from A. Antypas (Akin)	0.3
10/01/2024	AV	Revise weekly liquidity deck re: comments from D. MacGreevey (AlixPartners)	0.5
10/01/2024	DM	Review draft presentation to EVA UCC re: operations and liquidity updates	0.7
10/03/2024	DM	Review draft slides re: EVA backstop termination covenants	0.5
10/04/2024	AV	Draft liquidity and DIP presentation slides re: weekly variance	2.3
10/08/2024	AV	Draft liquidity deck slide re: bridge of September budget to October budget	2.1
10/08/2024	AV	Revised liquidity deck re: comments from E. Sanzotta (Akin)	0.2
10/08/2024	AV	Revised liquidity deck re: comments from M. Cervi (AlixPartners)	0.6
10/14/2024	AV	Draft liquidity and DIP presentation slides re: weekly variance	2.2
10/14/2024	AV	Revise liquidity deck re: comments from M. Cervi (AlixPartners)	0.2
10/15/2024	AV	Revise liquidity deck re: comments from A. Antypas (Akin)	0.3
10/15/2024	AV	Revise liquidity deck re: comments from D. MacGreevey (AlixPartners)	0.4
10/15/2024	DM	Review and comments on draft presentation for EVA UCC re: operations and	0.6
		liquidity updates	
10/18/2024	AV	Draft liquidity and DIP presentation slides re: weekly variance	1.9
10/21/2024	AV	Continue to revise liquidity deck re: weekly variance	0.7
10/21/2024	AV	Revise liquidity deck re: comments form M. Cervi (AlixPartners)	0.2
10/22/2024	AV	Revise weekly liquidity deck re: update on customer contracts	0.3
10/22/2024	DM	Review draft presentation to EVA UCC re: operations and liquidity	0.5
10/28/2024	AV	Draft liquidity and DIP presentation slides re: weekly variance	2.2
10/29/2024	AV	Revise liquidity deck re: comments from E. Sanzotta (Akin)	0.2
10/29/2024	DM	Review draft presentation to EVA UCC re: liquidity and operations updates	0.5
Total Profession	nal Hours		17.4

Enviva, Inc.

Attn: Glenn T. Nunziata

7272 Wisconsin Avenue, Suite 1800

Bethesda, MD 20814

Re: Preparation of Committee Presentations

PROFESSIONAL	RATE	HOURS	FEES
David MacGreevey	\$1,435	2.8	\$ 4,018.00
Andrew Valentini	\$895	14.6	13,067.00
<b>Total Professional Hours and Fees</b>		17.4	\$ 17,085.00

Enviva, Inc.

Attn: Glenn T. Nunziata

7272 Wisconsin Avenue, Suite 1800

Bethesda, MD 20814

Re: Meetings & Communication with Debtors

DATE	PROFESSIONAL	DESCRIPTION OF SERVICES	HOURS
10/02/2024	DL	Call with M. Cervi, M. Gates, D. Lopresti, T. Prince (AlixPartners), C. Matthaeus	0.3
		and others (A&M) re: Disclosure Statement reconciling items	
10/02/2024	MC	Call with M. Cervi, M. Gates, D. Lopresti, T. Prince (AlixPartners), C. Matthaeus	0.3
		and others (A&M) re: Disclosure Statement reconciling items	
10/02/2024	MDG	Call with M. Cervi, M. Gates, D. Lopresti, T. Prince (AlixPartners), C. Matthaeus	0.3
		and others (A&M) re: Disclosure Statement reconciling items	
10/02/2024	TGP	Call with M. Cervi, M. Gates, D. Lopresti, T. Prince (AlixPartners), C. Matthaeus	0.3
		and others (A&M) re: Disclosure Statement reconciling items	
10/07/2024	AV	Call with M. Cervi, C. Hood, A. Valentini (AlixPartners), D. Schiffman and others	0.3
		(A&M) re: variance reporting and revised DIP budget	
10/07/2024	CH	Call with M. Cervi, C. Hood, A. Valentini (AlixPartners), D. Schiffman and others	0.3
		(A&M) re: variance reporting and revised DIP budget	
10/07/2024	MC	Call with M. Cervi, C. Hood, A. Valentini (AlixPartners), D. Schiffman and others	0.3
		(A&M) re: variance reporting and revised DIP budget	
10/18/2024	AV	Call with M. Cervi, C. Hood, A. Valentini (AlixPartners), K. Kohr & Others	0.2
		(A&M) re: weekly variance reporting	
10/18/2024	CH	Call with M. Cervi, C. Hood, A. Valentini (AlixPartners), K. Kohr & Others	0.2
		(A&M) re: weekly variance reporting	
10/18/2024	MC	Call with M. Cervi, C. Hood, A. Valentini (AlixPartners), K. Kohr & Others	0.2
		(A&M) re: weekly variance reporting	
Total Profession	al Hours	·	2.7

Enviva, Inc.

Attn: Glenn T. Nunziata

7272 Wisconsin Avenue, Suite 1800

Bethesda, MD 20814

Re: Meetings & Communication with Debtors

PROFESSIONAL	RATE	HOURS	FEES
Mark Cervi	\$1,125	0.8	\$ 900.00
Matthew D Gates	\$1,025	0.3	307.50
Andrew Valentini	\$895	0.5	447.50
Thomas G Prince	\$880	0.3	264.00
Chase Hood	\$750	0.5	375.00
Daniel Lopresti	\$750	0.3	225.00
<b>Total Professional Hours and Fees</b>		2.7	\$ 2,519.00

Enviva, Inc.

Attn: Glenn T. Nunziata

7272 Wisconsin Avenue, Suite 1800

Bethesda, MD 20814

Re: Liquidity and Cash Management

DATE	PROFESSIONAL	DESCRIPTION OF SERVICES	HOURS
10/01/2024	AV	Continue to revise weekly liquidity report re: key updates and overview slide	1.3
10/01/2024	AV	Review forecasted FDM spend in September DIP budget	0.4
10/03/2024	AV	Review 10.2.24 - Epes - Weekly Internal Update	0.4
10/03/2024	AV	Review Vendor Payments Report (WE 9.27.2024)	0.3
10/03/2024	AV	Revise liquidity analysis for week ending 9/27 re: September DIP budget	1.3
		projections	
10/04/2024	AV	Analyze DIP and liquidity variance report	2.2
10/04/2024	AV	Review DIP variance report through 9.27	0.5
10/04/2024	AV	Review October DIP presentation	1.6
10/04/2024	AV	Revise liquidity and DIP presentation weekly slides re: end of case liquidity analysis	0.6
10/04/2024	СН	Analyze latest liquidity and variance reporting analysis from Debtors	0.6
10/04/2024	MC	Review latest cash reporting slides from debtors	0.2
10/04/2024	RMC	Analyze DIP budget and variance report files recently uploaded to the VDR	0.5
10/04/2024	RMC	Compile links to latest DIP budget and variance report files for dissemination to	0.3
		AlixPartners team	
10/07/2024	AV	Analyze October DIP model following discussion with A&M re: key assumptions and projections	2.3
10/07/2024	AV	Continue to review October DIP presentation	0.9
10/07/2024	AV	Review revised October DIP model re: adjusted capex schedule	0.9
10/07/2024	AV	Review revised October DIP model re: adjusted professional fee schedule	0.8
10/07/2024	AV	Review revised October DIP model re: adjusted receipt and disbursement	2.2
		assumptions	
10/07/2024	AV	Review revised October DIP model re: FDM assumptions	0.5
10/07/2024	MC	Review weekly cash reporting slides	0.2
10/07/2024	RMC	Compile links to latest budget and 10-K files for dissemination to AlixPartners team	0.2
10/08/2024	MC	Review draft committee liquidity update slides	0.8
10/09/2024	AV	Analyze amended DIP and adequate assurance calculation in October DIP model	0.9
10/09/2024	AV	Analyze DIP budget actuals and projections over the past five budgets through September re: historical variance to projections	1.8
10/10/2024	AV	Review Cash Mgmt Reporting (Monthly) - 9.30.24	0.2
10/10/2024	AV	Review Vendor Negotiations Report (WE 10.4.2024)	0.1
10/10/2024	AV	Revise liquidity analysis for week ending 10/4 re: October DIP budget projections	1.5
10/10/2024	RMC	Analyze intercompany, vendor negotiations and cash management files recently uploaded to the VDR	0.5
10/10/2024	RMC	Compile links to latest intercompany, vendor negotiations and cash management files for dissemination to AlixPartners team	0.2
10/11/2024	AV	Analyze DIP and liquidity variance report	2.1
10/11/2024	AV	Review DIP variance report through 10.4	0.4
10/11/2024	AV	Revise liquidity and DIP presentation weekly slides re: end of case liquidity analysis	0.8
		1	
10/11/2024	СН	Analyze latest liquidity and variance reporting analysis from Debtors	0.6
10/11/2024	MC	Review latest cash reporting slides from debtors	0.2
		• •	

Enviva, Inc.

Attn: Glenn T. Nunziata

7272 Wisconsin Avenue, Suite 1800

Bethesda, MD 20814

Re: Liquidity and Cash Management

DATE	PROFESSIONAL	DESCRIPTION OF SERVICES	HOURS
10/14/2024	MC	Review draft committee liquidity update slides	0.4
10/14/2024	RMC	Analyze variance report file recently uploaded to the VDR	0.2
10/15/2024	DM	Email with A. Valentini (AlixPartners) re: comparison of AlixPartners projection of	0.2
		EVA liquidity at emergence to Company Disclosure Statement	
10/15/2024	MC	Review draft UCC weekly cash reporting slides	0.4
10/16/2024	AV	Revise liquidity analysis for week ending 10/11 re: October DIP budget projections	1.3
10/17/2024	AV	Review Vendor Payments Report (WE 10.11.2024)	0.2
10/17/2024	RMC	Analyze vendor payments file recently uploaded to the VDR	0.2
10/18/2024	AV	Analyze DIP and liquidity variance report	2.4
10/18/2024	AV	Review DIP variance report through 10.11	0.4
10/18/2024	AV	Revise liquidity and DIP presentation weekly slides re: end of case liquidity analysis	0.7
10/18/2024	СН	Analyze latest liquidity and variance reporting analysis from Debtors	0.6
10/18/2024	MC	Review latest cash reporting slides from debtors	0.2
10/21/2024	MC	Review draft UCC weekly cash reporting slides	0.4
10/23/2024	AV	Revise liquidity analysis for week ending 10/18 re: October DIP budget projections	1.1
10/25/2024	AV	Analyze DIP and liquidity variance report	2.2
10/25/2024	AV	Review DIP variance report through 10.18	0.5
10/25/2024	AV	Revise liquidity and DIP presentation weekly slides re: end of case liquidity analysis	0.6
10/25/2024	СН	Analyze latest liquidity and variance reporting analysis from Debtors	0.6
10/25/2024	RMC	Analyze vendor negotiations and variance report files recently uploaded to the VDR	0.2
10/29/2024	MC	Review draft UCC weekly cash reporting slides	0.5
10/30/2024	AV	Revise liquidity analysis for week ending 10/25 re: October DIP budget projections	1.2
10/31/2024	AV	Review Insurance Matrix - 9.30.24	0.2
10/31/2024	AV	Review Payroll Report - 9.30.24	0.2
10/31/2024	AV	Review Tax Matrix - 9.30.24	0.2
10/31/2024	AV	Review Vendor Payments Report (week ending 10.25.2024)	0.2
10/31/2024	RMC	Analyze vendor payments, insurance, tax, and payroll files recently uploaded to the VDR	0.6
<b>Total Profession</b>	nal Hours		44.2

Enviva, Inc.

Attn: Glenn T. Nunziata

7272 Wisconsin Avenue, Suite 1800

Bethesda, MD 20814

Re: Liquidity and Cash Management

PROFESSIONAL	RATE	HOURS	FEES
David MacGreevey	\$1,435	0.2	\$ 287.00
Mark Cervi	\$1,125	3.3	3,712.50
Andrew Valentini	\$895	35.4	31,683.00
Chase Hood	\$750	2.4	1,800.00
Robert Matthew Cowen	\$750	2.9	2,175.00
<b>Total Professional Hours and Fees</b>		44.2	\$ 39,657.50

Enviva, Inc.

Attn: Glenn T. Nunziata

7272 Wisconsin Avenue, Suite 1800

Bethesda, MD 20814

Re: Business and Strategic Plan Code: 20011190PA0001.1.9

DATE	PROFESSIONAL	DESCRIPTION OF SERVICES	HOURS
10/01/2024	AV	Review breakout of customer contracts provided by A&M	0.3
10/02/2024	RMC	Analyze backstop termination clause and implications	2.3
10/03/2024	AV	Review impact to Final Businss Plan EBITDA re: Drax and MGT revised contract terms	0.7
10/03/2024	AV	Review revised Drax contract terms	0.4
10/03/2024	RMC	Analyze backstop termination clause and implications	1.2
10/03/2024	RMC	Analyze Epes update and vendor payments files recently uploaded to the VDR	0.6
10/03/2024	RMC	Review latest electronic court docket entries to determine relevance to business plan forecast	1.6
10/03/2024	RMC	Compile links to latest Epes update and vendor payments files for dissemination to AlixPartners team	0.3
10/03/2024	RMC	Prepare backstop termination analysis slides	1.9
10/04/2024	RMC	Review latest electronic court docket entries to determine relevance to business plan and recoveries workstreams	1.0
10/09/2024	AV	Analyze final business plan projections compared to revised October DIP budget	1.7
10/09/2024	НО	Analyze August forecast vs MOR	0.3
10/09/2024	RMC	Revise August 2024 income statement MOR vs forecast slides	1.6
10/10/2024	НО	Analyze August and July combined forecast vs MOR	1.5
10/16/2024	RMC	Review latest electronic court docket entries to determine relevance to business plan, workplan and recoveries workstreams	0.5
10/22/2024	AV	Review August MORs	1.2
10/22/2024	AV	Review court docket re: contract assumption filings	0.4
10/22/2024	AV	Review email from B. Bergamo (A&M) re: status of customer contracts	0.2
<b>Total Profession</b>	al Hours		<u>17.7</u>

Enviva, Inc.

Attn: Glenn T. Nunziata

7272 Wisconsin Avenue, Suite 1800

Bethesda, MD 20814

Re: Business and Strategic Plan Code: 20011190PA0001.1.9

PROFESSIONAL	RATE	HOURS	FEES
Andrew Valentini	\$895	4.9	\$ 4,385.50
Robert Matthew Cowen	\$750	11.0	8,250.00
Hugh Olohan	\$500	1.8	900.00
<b>Total Professional Hours and Fees</b>		<u>17.7</u>	\$ 13,535.50

Enviva, Inc.

Attn: Glenn T. Nunziata

7272 Wisconsin Avenue, Suite 1800

Bethesda, MD 20814

Re: Financial and Other Diligence Code: 20011190PA0001.1.11

DATE	PROFESSIONAL	DESCRIPTION OF SERVICES	HOURS
10/01/2024	RMC	Review latest electronic court docket entries to determine relevance to SOFA/SOAL	0.4
		workstream	
10/02/2024	RMC	Review proposed agenda for upcoming hearing on October 4	0.1
10/03/2024	AV	Review amended Statement of Financial Affairs for Enviva Inc.	0.6
10/03/2024	AV	Review docket re: recent filings	0.2
10/07/2024	RMC	Analyze budget and 10-K files recently uploaded to the VDR	0.6
10/07/2024	RMC	Review August MORs	0.7
10/08/2024	НО	Analyze August forecast vs MOR	1.2
10/08/2024	RMC	Review latest electronic court docket entries to determine relevance to workplan and	0.5
		recoveries workstreams	
10/10/2024	RMC	Review notice of restrictions and redactions	0.2
10/11/2024	RMC	Review Pinnacle Risk Solutions objection to confirmation plan	0.3
10/14/2024	AV	Review Court filings related to contract assumptions	0.4
10/17/2024	RMC	Review MGT/Hancock settlement approval order	0.3
10/18/2024	RMC	Review MGT/Hancock settlement approval order	0.2
10/21/2024	RMC	Review notice of certain executory contracts and/or unexpired leases	0.4
10/22/2024	RMC	Review notice of certain executory contracts and/or unexpired leases	0.2
10/23/2024	RMC	Analyze intercompany files recently uploaded to the VDR	0.5
10/24/2024	RMC	Review latest supplement to amended plan of reorganization	0.2
10/28/2024	RMC	Review latest amended plan of reorganization	0.2
10/29/2024	RMC	Review case management order No. 4	0.2
10/30/2024	RMC	Review MGT/Hancock settlement approval order	0.2
10/31/2024	RMC	Review latest supplement to amended plan of reorganization	0.3
<b>Total Profession</b>	al Hours		<u>7.9</u>

Enviva, Inc.

Attn: Glenn T. Nunziata

7272 Wisconsin Avenue, Suite 1800

Bethesda, MD 20814

Re: Financial and Other Diligence Code: 20011190PA0001.1.11

PROFESSIONAL	RATE	HOURS	FEES
Andrew Valentini	\$895	1.2	\$ 1,074.00
Robert Matthew Cowen	\$750	5.5	4,125.00
Hugh Olohan	\$500	1.2	600.00
<b>Total Professional Hours and Fees</b>		<u>7.9</u>	\$ 5,799.00

Enviva, Inc.

Attn: Glenn T. Nunziata

7272 Wisconsin Avenue, Suite 1800

Bethesda, MD 20814

Re: Litigation Support & Investigations

DATE	PROFESSIONAL	DESCRIPTION OF SERVICES	HOURS
10/07/2024	RC	Update investigation support documentation for litigation trust.	1.5
Total Profession	nal Hours		1.5

Enviva, Inc.

Attn: Glenn T. Nunziata

7272 Wisconsin Avenue, Suite 1800

Bethesda, MD 20814

Re: Litigation Support & Investigations

PROFESSIONAL	RATE	HOURS	FEES
Richard Collura	\$1,320	1.5	1,980.00
<b>Total Professional Hours and Fees</b>		1.5	\$ 1,980.00

Enviva, Inc.

Attn: Glenn T. Nunziata

7272 Wisconsin Avenue, Suite 1800

Bethesda, MD 20814

Re: Claims Analysis Code: 20011190PA0001.1.14

DATE	PROFESSIONAL	DESCRIPTION OF SERVICES	HOURS
10/01/2024	TGP	Analyze payments made to vendors under prepetition claims program	0.9
10/02/2024	DL	Call with D. Lopresti, T. Prince (AlixPartners) re: reconciliation of claims to Disclosure Statement	0.5
10/02/2024	DL	Prepare reconciliation of Disclosure Statement claims and recoveries at the request of counsel	2.2
10/02/2024	DL	Revise Disclosure Statement reconciliation of claims and recoveries based on AlixPartners team members comments	1.9
10/02/2024	MC	Analyze latest draft of DS for claims and allocations to debtors	1.8
10/02/2024	MC	Review email from N. Caruso (A&M) re: claim reconciliation	0.1
10/02/2024	TGP	Call with D. Lopresti, T. Prince (AlixPartners) re: reconciliation of claims to Disclosure Statement	0.5
10/02/2024	TGP	Analyze the general unsecured claims pool under various settlement assumptions	0.8
10/10/2024	TGP	Review updated vendor negotiations report dated 10/4/2024	0.3
<b>Total Profession</b>	al Hours		9.0

Enviva, Inc.

Attn: Glenn T. Nunziata

7272 Wisconsin Avenue, Suite 1800

Bethesda, MD 20814

Re: Claims Analysis
Code: 20011190PA0001.1.14

PROFESSIONAL	RATE	HOURS	FEES
Mark Cervi	\$1,125	1.9	2,137.50
Thomas G Prince	\$880	2.5	2,200.00
Daniel Lopresti	\$750	4.6	3,450.00
<b>Total Professional Hours and Fees</b>		9.0	\$ 7,787.50

Enviva, Inc.

Attn: Glenn T. Nunziata

7272 Wisconsin Avenue, Suite 1800

Bethesda, MD 20814

Re: RSA, Disclosure Statement & Plan of Reorganization

DATE	PROFESSIONAL	DESCRIPTION OF SERVICES	HOURS
10/01/2024	DM	Emails from J. Brown (Davis Polk) and J. Rubin (Akin) re: EVA Plan terms	0.3
10/01/2024	DM	Review draft analysis from M. Cervi re: projected EVA recoveries under proposed Plan terms	0.3
10/01/2024	DM	Review emails from D. Schiff (DPW) and J. Rubin (Akin) re: further negotiation around EVA Plan terms	0.2
10/01/2024	DM	Review Milbank comments to UCC proposed Plan terms	0.2
10/01/2024	KBM	Review Plan settlement updates	0.9
10/01/2024	MC	Analyze claims recovery model sensitivities to support litigation trust calculations	3.3
10/01/2024	MC	Draft email to J. Rubin (Akin) re: Litigation trust allocations	0.3
10/01/2024	MC	Review email from M. Colorossi (PW) re: plan proposal	0.1
10/01/2024	TGP	Analyze allocation of litigation trust interests	1.4
10/02/2024	AV	Call with M. Cervi, D. MacGreevey, K. McGlynn, A. Valentini (AlixPartners), A. Uhlir & Others (Evercore), T. Hatfield & Others (Ducera) re: backstop termination language	0.2
10/02/2024	AV	Review redline version of proposed amended Disclosure Statement	0.8
10/02/2024	AV	Review updated term sheet of settlement agreement re: litigation trust	0.3
10/02/2024	DM	Call with M. Cervi, D. MacGreevey, K. McGlynn, A. Valentini (AlixPartners), A. Uhlir & Others (Evercore), T. Hatfield & Others (Ducera) re: backstop termination language	0.2
10/02/2024	DM	Review draft UCC Plan support letter	0.2
10/02/2024	DM	Review revised EVA liquidation analysis exhibit and discuss with M. Cervi	0.4
10/02/2024	DM	Review revised EVA POR and DS	0.8
10/02/2024	KBM	Call with M. Cervi, D. MacGreevey, K. McGlynn, A. Valentini (AlixPartners), A. Uhlir & Others (Evercore), T. Hatfield & Others (Ducera) re: backstop termination language	0.2
10/02/2024	MC	Call with M. Cervi, D. MacGreevey, K. McGlynn, A. Valentini (AlixPartners), A. Uhlir & Others (Evercore), T. Hatfield & Others (Ducera) re: backstop termination language	0.2
10/02/2024	MC	Analyze Drax contract summary for purposes of backstop analysis	0.5
10/02/2024	TGP	Analyze potential recoveries to general unsecured creditors under various claims pool assumptions	2.6
10/03/2024	AV	Analyze impact of Drax and MGT contract adjustments compared to final business plan	1.8
10/03/2024	AV	Call with M. Cervi, M. Gates, D. MacGreevey, A. Valentini (AlixPartners), B. Bergamo & Others (A&M) re: backstop termination calculation and revised Drax & MGT contracts	0.3
10/03/2024	AV	Prepare questions for call with A&M re: backstop termination	0.3
10/03/2024	AV	Prepare slides on backstop termination re: impact of Drax and MGT contract adjustments compared to final business plan	1.3
10/03/2024	AV	Revise analysis of impact from Drax and MGT updated contracts following call with A&M	0.4
10/03/2024	AV	Revise backstop termination slides re: comments from D. MacGreevey (AlixPartners)	0.3

Enviva, Inc.

Attn: Glenn T. Nunziata

7272 Wisconsin Avenue, Suite 1800

Bethesda, MD 20814

Re: RSA, Disclosure Statement & Plan of Reorganization

DATE	PROFESSIONAL	DESCRIPTION OF SERVICES	HOURS
10/03/2024	DM	Partial attendance at meeting with B. Bergamo and D. Schiffman (A&M), M. Cervi, M. Gates, D. MacGreevey and A. Valentini (AlixPartners) re: EVA backstop	0.2
		termination covenants and revised customer contracts	
10/03/2024	MC	Analyze backstop related contract data	0.6
10/03/2024	MC	Call with M. Cervi, M. Gates, D. MacGreevey, A. Valentini (AlixPartners), B. Bergamo & Others (A&M) re: backstop termination calculation and revised Drax & MGT contracts	0.3
10/03/2024	MC	Email with B. Bergamo (A&M) re: backstop calculation	0.1
10/03/2024	MC	Email with J. Rubin (Akin) re: backstop calculation	0.1
10/03/2024	MDG	Call with M. Cervi, M. Gates, D. MacGreevey, A. Valentini (AlixPartners), B. Bergamo & Others (A&M) re: backstop termination calculation and revised Drax & MGT contracts	0.3
10/04/2024	KBM	Review amended Disclosure Statement	1.1
10/04/2024	KBM	Review amended Plan of Reorganization	0.9
10/04/2024	MC	Review DS final order	0.4
10/04/2024	MC	Review final global settlement stipulation	0.3
10/04/2024	RMC	Analyze Disclosure Statement that was recently uploaded to electronic court docket	2.2
10/04/2024	RMC	Analyze plan of reorganization	2.4
10/04/2024	TGP	Analyze amended chapter 11 plan	0.9
10/04/2024	TGP	Analyze amended Disclosure Statement	1.3
10/04/2024	TGP	Review filed global settlement stipulation	0.2
10/14/2024	RMC	Review latest disclosure statement	0.7
10/15/2024	AV	Review amended DS filed 10/14 re: cash flow projections	1.6
10/15/2024	RMC	Review latest amended plan of reorganization	0.6
10/23/2024	RMC	Review latest supplement to amended plan of reorganization on electronic court docket to determine relevance to AlixPartners workstreams	0.6
10/24/2024	AV	Review plan supplement filings	1.4
Total Profession	nal Hours	- -	34.0

Enviva, Inc.

Attn: Glenn T. Nunziata

7272 Wisconsin Avenue, Suite 1800

Bethesda, MD 20814

Re: RSA, Disclosure Statement & Plan of Reorganization

PROFESSIONAL	RATE	HOURS	FEES
David MacGreevey	\$1,435	2.8	\$ 4,018.00
Kathryn B McGlynn	\$1,380	3.1	4,278.00
Mark Cervi	\$1,125	6.2	6,975.00
Matthew D Gates	\$1,025	0.3	307.50
Andrew Valentini	\$895	8.7	7,786.50
Thomas G Prince	\$880	6.4	5,632.00
Robert Matthew Cowen	\$750	6.5	4,875.00
<b>Total Professional Hours and Fees</b>		34.0	\$ 33,872.00

Enviva, Inc.

Attn: Glenn T. Nunziata

7272 Wisconsin Avenue, Suite 1800

Bethesda, MD 20814

Re: Court Hearings and Status Conferences

DATE	PROFESSIONAL	DESCRIPTION OF SERVICES	HOURS
10/04/2024	CC	Attend Disclosure Statement hearing	0.4
10/04/2024	DM	Attend hearing re: EVA Disclosure Statement and backstop	0.7
10/04/2024	KBM	Attend Disclosure Statement hearing	0.6
10/04/2024	MC	Listen to Disclosure Statement hearing	0.8_
Total Professional Hours			2.5

Enviva, Inc.

Attn: Glenn T. Nunziata

7272 Wisconsin Avenue, Suite 1800

Bethesda, MD 20814

Re: Court Hearings and Status Conferences

PROFESSIONAL	RATE	HOURS	FEES
David MacGreevey	\$1,435	0.7	\$ 1,004.50
Kathryn B McGlynn	\$1,380	0.6	828.00
Mark Cervi	\$1,125	0.8	900.00
Christopher Cuomo	\$880	0.4	352.00
<b>Total Professional Hours and Fees</b>			\$ 3,084.50

Enviva, Inc.

Attn: Glenn T. Nunziata

7272 Wisconsin Avenue, Suite 1800

Bethesda, MD 20814

Re: Fee Applications & Fee Statements

DATE	PROFESSIONAL	DESCRIPTION OF SERVICES	HOURS
10/02/2024	LMB	Email to A. Vecellio and A. Antypas (Akin) the updated August 2024 Monthly Fee	0.2
		Statement for filing on the Court docket	
10/02/2024	LMB	Prepare Second Interim Fee Application	0.6
10/02/2024	LMB	Revise and finalize Fifth Monthly Fee Statement, supporting schedules and exhibits	0.8
		(August 2024) to include Counsel's comments	
10/03/2024	KAS	Call with K. Sundt and L. Bonito (both AlixPartners) re: Second Interim Fee	0.2
		Application	
10/03/2024	LMB	Call with K. Sundt and L. Bonito (both AlixPartners) re: Second Interim Fee	0.2
		Application	
10/03/2024	LMB	Prepare schedules for Second Interim Fee Application	1.6
10/03/2024	LMB	Prepare Second Interim Fee Application	2.3
10/03/2024	LMB	Update fee application summary charts	0.4
10/04/2024	MDG	Review Second Interim Fee Application	0.8
10/07/2024	LMB	Revise Second Interim Fee Application	1.2
10/07/2024	MDG	Analyze professional fees for September 2024 Monthly Fee Statement	1.1
10/08/2024	LMB	Prepare professional fees for September 2024 Monthly Fee Statement	2.8
10/09/2024	LMB	Prepare professional fees for September 2024 Monthly Fee Statement	1.2
10/09/2024	LMB	Update fee application summary charts	0.2
10/09/2024	SR	Review Second Interim Fee Application	1.1
10/10/2024	LMB	Prepare professional fees for September 2024 Monthly Fee Statement	1.4
10/10/2024	MDG	Review and revise Second Interim Fee Application	0.5
10/13/2024	LMB	Prepare professional fees for September 2024 Monthly Fee Statement	2.6
10/14/2024	DM	Review EVA Second Interim Fee Application	0.8
10/14/2024	LMB	Email to A. Vecellio and A. Antypas (Akin) the Second Interim Fee Application for	0.2
		filing on the Court docket	
10/14/2024	LMB	Revise and finalize Second Interim Fee Application and supporting exhibits	1.8
10/14/2024	MDG	Revise Second Interim Fee Application	0.5
10/15/2024	AV	Review email with attachment from A&M re: calculation in August monthly fee statement	0.3
10/15/2024	LMB	Email to A. Valentini (A&M) re: August 2024 Monthly Fee Statement	0.2
10/17/2024	MDG	Analyze professional fees for September 2024 Monthly Fee Statement	1.5
10/17/2024	MDG	Analyze professional fees for September 2024 Monthly Fee Statement for privilege	1.5
		and confidentiality	
10/20/2024	LMB	Prepare professional fees for September 2024 Monthly Fee Statement for privilege and confidentiality	0.8
10/29/2024	LMB	Prepare draft of Sixth Monthly Fee Statement (September 2024)	0.5
10/30/2024	LMB	Prepare professional fees for September 2024 Monthly Fee Statement	1.5
<b>Total Professional</b>	Hours		28.8

Enviva, Inc.

Attn: Glenn T. Nunziata

7272 Wisconsin Avenue, Suite 1800

Bethesda, MD 20814

Re: Fee Applications & Fee Statements

PROFESSIONAL	RATE	HOURS	FEES
David MacGreevey	\$1,435	0.8	\$ 1,148.00
Matthew D Gates	\$1,025	5.9	6,047.50
Andrew Valentini	\$895	0.3	268.50
Sari Rosenfeld	\$625	1.1	687.50
Lisa Marie Bonito	\$550	20.5	11,275.00
<b>Total Professional Hours and Fees</b>		28.8	\$ 19,426.50

Enviva, Inc.

Attn: Glenn T. Nunziata

7272 Wisconsin Avenue, Suite 1800

Bethesda, MD 20814

Re: Intercompany & Waterfall Analysis

DATE	PROFESSIONAL	DESCRIPTION OF SERVICES	HOURS
10/01/2024	DL	Working session with M. Cervi, D. Lopresti, T. Prince (AlixPartners) re: litigation	2.9
		trust interests modeling and calculation	
10/01/2024	DL	Call with D. Lopresti, T. Prince (AlixPartners) re: preparation of litigation trust	1.1
		analysis for counsel	
10/01/2024	DL	Call with M. Cervi, D. Lopresti, T. Prince (AlixPartners) re: revision of litigation	0.3
		trust interest calculations	
10/01/2024	DL	Call with M. Cervi, D. Lopresti (AlixPartners) re: walkthrough of litigation trust	0.6
10/01/2024	DI	interests mechanics and calculations	2.2
10/01/2024	DL	Prepare litigation trust share analysis at the request of counsel	2.3
10/01/2024	DL	Revise litigation trust analysis based on comments from AlixPartners team members	2.1
10/01/2024	MC	Working session with M. Cervi, D. Lopresti, T. Prince (AlixPartners) re: litigation	2.9
- 0, 0 - 1 - 0 - 1		trust interests modeling and calculation	
10/01/2024	MC	Call with M. Cervi, D. Lopresti, T. Prince (AlixPartners) re: revision of litigation	0.3
		trust interest calculations	
10/01/2024	MC	Call with M. Cervi, D. Lopresti (AlixPartners) re: walkthrough of litigation trust	0.6
		interests mechanics and calculations	
10/01/2024	TGP	Working session with M. Cervi, D. Lopresti, T. Prince (AlixPartners) re: litigation	2.9
		trust interests modeling and calculation	
10/01/2024	TGP	Call with D. Lopresti, T. Prince (AlixPartners) re: preparation of litigation trust	1.1
		analysis for counsel	
10/01/2024	TGP	Call with M. Cervi, D. Lopresti, T. Prince (AlixPartners) re: revision of litigation	0.3
10/01/2021	T05	trust interest calculations	• •
10/01/2024	TGP	Update waterfall model to incorporate settlement discussions	2.8
10/02/2024	СН	Call with C. Hood, T. Prince (AlixPartners) re: analyses with respect to potential	0.9
10/02/2024	DI	general unsecured recoveries	0.2
10/02/2024	DL	Call with M. Cervi, D. Lopresti, T. Prince (AlixPartners) re: Disclosure Statement analysis and reconciliation	0.2
10/02/2024	MC	Call with M. Cervi, D. Lopresti, T. Prince (AlixPartners) re: Disclosure Statement	0.2
10/02/2024	MC	analysis and reconciliation	0.2
10/02/2024	TGP	Call with C. Hood, T. Prince (AlixPartners) re: analyses with respect to potential	0.9
10/02/2024	101	general unsecured recoveries	0.5
10/02/2024	TGP	Call with M. Cervi, D. Lopresti, T. Prince (AlixPartners) re: Disclosure Statement	0.2
10,02,202.	101	analysis and reconciliation	0.2
10/10/2024	TGP	Review updated intercompany activities file dated 10/6/2024	0.6
10/10/2024	TGP	Review updated postpetition intercompany balance trend report dated 10/6/2024	0.4
<b>Total Professional</b>	Hours		23.6

Enviva, Inc.

Attn: Glenn T. Nunziata

7272 Wisconsin Avenue, Suite 1800

Bethesda, MD 20814

Re: Intercompany & Waterfall Analysis

PROFESSIONAL	RATE	HOURS	FEES
Mark Cervi	\$1,125	4.0	\$ 4,500.00
Thomas G Prince	\$880	9.2	8,096.00
Chase Hood	\$750	0.9	675.00
Daniel Lopresti	\$750	9.5	7,125.00
<b>Total Professional Hours and Fees</b>		_23.6	\$ 20,396.00